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AsHl m3
JFERS ALER 6. 79%2. 50/1. 80 = 9.43 9. 40
— L, m3
JFERS ALER 0. 19%2. 35/1. 80 = 0.25 1. 00
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(£ 2. Okm m3
AN T2 i H R = 45. 20 45. 00 3




N@ PR R
505 I 2 41 B B gk
T fE A H A Y B & | Hdr
KT
ML AT 2RI e 30. 00 30.00 | m
F=ArRI%EE 300%300 L=2000
WAL AT 2RI e 1. 00 1.00 | m
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WL V=F2) 0300 4. 00 4.00 | #
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MEL 27 =1 2Z5W300 33. 00 33.00 | #
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3.07 )x*
3.10 )x*
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1/2 % 9.50
= 41.70
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1/2 * 12.00
1/2 * 13.00
1/2 % 1.20
1/2 % 9.50

= 41.70 m
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0. 00 0.3 0. 20
0.0+7. 1 7.10 0.3 0.2 0. 30 0. 20 7.1 2.1 1.4
0.0+7. 1 7.10 0.2 0.1 0.25 0.15 0 0.0 0.0
12. 00 0.2 0.1 0. 20 0. 10 4.9 1.0 0.5
12. 0+5. 5 17. 50 0.2 0.1 0. 20 0. 10 5.5 1.1 0.6
17. 50 0.4 0.2 0. 30 0.15 0 0.0 0.0
25. 00 0.4 0.2 0. 40 0. 20 7.5 3.0 1.5
32. 20 0.5 0.3 0.45 0.25 7.2 3.2 1.8
41. 70 0.4 0.3 0.45 0. 30 9.5 4.3 2.9
/NEE 41.7 14. 7 8.7
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25. 00 1.0 1. 00 13.0 13.0
32. 20 0.9 0.95 7.2 6.8
41. 70 1.0 0.95 9.5 9.0

/NEE 41.7 40. 2

FELT
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0.45
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